Exercise 156.2 Indirect statement with wg or 61t

AOyLog, ou, 0 storyteller; ®olviE, 1kog, Phoenican; outog, altn, To0To, this ,these; aitiog,
cause of, responsible for (+ gen.)

A. With a primary tense (e.g. present, future) introductory verb.

ol Aoylol Mepocwv Aéyouot (the "storytellers" of the Persians say):

1. that the Phoenicians came to (arrived at) this sea. (w¢ Qolvikeg (kovto &mi tivée
Balacoav).

that these men settled this city. (6Tt oUtotL Gknoav THV TOALW).

that a Phoenician will settle this city ( 6Tt ®otvi€ oikoeL THV TOALY.)

that these men are coming to Argos (4Tt oUToL ikvéovtat £¢’Apyoq).

o &~ D

that the Phoenicians are responsible for this war (wg Qolivikeg aitiol To0 moAépou

£€Y€VovTo).
6. that the daughter of the king came to the sea (6Tt Buydtnp Bacthfjoc AAOe £t
Balacoav).

7. that these Phoenicians will attack these (girls).w¢ ot Qolvikeg émolxrjoovral mi Tac.

B. When the introductory verb is in a secondary (past) tense, often Greek does not change
the verb of indirect statement. But when it does, the verb changes to the corresponding
tense of the optative.

N.B. English often retains the original tense rather than shift to a pluperfect.

ol Adylot Nepaéwv elmov (the "storytellers" of the Persians said):
1. that the Phoenicians had come...(6tL Doivikec ikoiato (or ikowto) £mi tivde Balaooav).
2. that the Phoenicians had settled... (6Tt Qoivikeg oikrjoalev (olkfosLlav) TV OALV).
3. that a Phoenician would settle ... (6tt DoivL oikricoL TV TOALV).
4. that these men would come (8Tt oUtot i€oiato [(€owvto] £¢"Apyog).
5. that Chryses had freed...( wg XpUong AUocoat [AUoeLe] Thv matda ¢iknv).
6. that the daughter of the king had come... (wg Buydtnp BactAfjoc EABol £mi BdAacoav).
7. that the Danaans had requited ...(6TL Aavaaol ticelav [ticale] Sdkpua iepiioc.)
8. that the Danaans would requite (6Tt Aavaaol ticolev ddakpua iepfiog).

9. that the Danaans were requiting (6Tt Aavaaol tivolev ddakpua iepfiog)



